EARAROBEEIERT — 2 N— IBISH —F

201358H 140 (k) 9EIFIRI2H

WNFPRIRCEDA A NEDYE C4 52— EEDE IR
[AE£] 1% :150,000  ~ 2#&:24,000 ™M  337%&:18,000 M . 43%&:12,000 M 57 :6,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
I 5 % 3 | BETS 1:02.0 2-2 38.0| — 2 446 | /NEFE (dtimiE)
118937 5.0 =) o) | TSR
L:ALT747 B:x+v5v b Bl FER
o Al :02. = . — 1EFHFBR (AtimE)
AP T o L Bl I Bl -
:—) B:iavyxe0Ol RO
Sy . I EHA : - - HEEM (g
3 4| INTIWHLIN Z— o 54.0 1'(()32)'7 &8 5.0 8 tg? BREEA e
LNTVALTIA—- B:xaIIANC2— KIS
- ft 5 | AMEEE 1:02.8 1-1 38.9| — 10 | 472 |WhEEA (iiEE)
4 2| ¥/ TZ/E R 54.0 7 E) (-a) B -
L:LaTy—I17 B3I €I T7F=A =i R
. = B4 | FLEE 1:02.9 3-4 38.6| — 3 466 | MAFIEL (dbimE)
5111 | TEZXUZ 54.0 (3/4) () |MEER=ER
LY IINIF— B:T7IHFarH0 BLhERS
- allE : x - BB (imE)
6 6| 777 —82vF i £52.0 1'83)'1 o %6 ! ‘g? tHE -
LNTNHLTzO— BTIERI1AY FE A
N st 4 | BREA 1:03.4 10-10  |38.2| — 9 444 | EEEZRER (ALiEiE)
715|5 AAINT T 56.0 (1 1/2) (-2) HItER A
w4277 B Friex EH B
S o = 2Nl : — — RAAEE (dtisE)
g8l7/8|H>EXY—H%T7 SR it 1(,?% &9 %87 o gf) BEE e
L:RKU—LZXTLy K B:d-LFriUr =i X
N HLEH®X :04. — . — BOBE (dtEE)
9l7l7| b=—KIHAL 2R o4 | HEH 1(034)0 55 | 39.5 7 (4_628) BOME Gmi
L ZZXHTR B:IFI/NCT— Lol =: I
3 = it 5 | BHEF 1:04.3 5-5 39.8| — 5 478 | BHAF (dbimd)
10[8[10| 71 >>H77 54.0 (1 1/2) Lo | TR
L7 KR4 VKRR B:FT3I—Fy NEH H—
® 1—F—@EBIERL
13—7-—
2a=5"=
33—F-— 2,9,(1,3),(6,7,10), (4,8) ,5
40—F— 2,9,3,1,(7,10),6,4,8,5
[ /N
B 9 380H 714K 3-9 150M e E 3-8 230 JEE 3-4-9 1,390
B B 9 130H4 4-9 880M B = 3-9 300 JEE 9-3-4 5,360
3 1004 3-4 550M B H 9-3 680M
4 310H

ABICOVWTRDTEEERROODE. TR LIV,




